BREMPREFGETISE(FRMIGE) Wik SH1E 98 228 (AB)
Frx
= g & B &t E i E E fi& £ B 8
(kg)
WA 52.1 JtiEE 2,160 1512 1,296 10l vay
LA T & — 96 — 1
IZALA 13.6 JtiEE - 864 — 10
IZALA f = 1,296 — 1,188 10 L
ZIES5 1.9 5 & 3,780 — 3,510 10 M
ZIx5 BRE 1,620 1,296 1,296 2l A LL
[E<E0LY 23.0 £ B 1,944 1,944 1,620 15[ A L
[E<ELY JtiEE - 1,728 — 12l vay 4
HTE 1.1 ERE 2,592 2,592 2,376 4 A M
—EOh 6.6 BERE 2,376 2,052 1,728 4 A M
FrRY 104.6 B E 1512 1,188 1,188 10l vay 8
FrRY =I5 1,080 - 864 10 A 8
IEF5SNAZES 1.0 BE X 6,210 — 5,940 5] vay M
hE 4.7 JtiEE 2,160 2,160 2,052 3l A L
_hE 1.4 2 [ 3,888 2,268 1,620 3l A M
125 1.6 =0 6,480 6,480 5,400 5] vay
L) — 0.7 E % — 3,024 — 10 A L
FTRINGHR 1.6 BE X — 76 — 0.1 vay M
LAR 36.1 E % 1,944 1,188 1,080 10 A 16
FoTHA 1.1 BRE 2,808 2376 2376 4f A L
=Y 24.9 BRE 1,944 1,620 1,620 5/ A L
=p5Y B X - 2,376 - 5
ANESSED) 14.8 BRE - - - PR
ANESSES) JtiEE 2,700 2376 2,376 10 vay 5
Al 6.9 BRE — 2376 — 4f A LL
Al B X 1,674 — 1,620 5/ B 32
k2 28.3 BE K 2,592 2,052 2,052 PR S
k< X & 3,024 2,592 2,376 4 B 24
=k 5.2 EES 324 238 216 02| vay M
Nt x4 X & 3,780 3,240 3,240 3 A M
F—<> 5.2 X & 109 86 76 0.15 A M
F—<> BE X 2,916 2,430 2,430 45 A L
T35 1.4 BRE 81 65 65 0.1 A M
[2H5Y 1.4 BRE 2,041 2,041 1,296 5/ A M
SPVAITFA 0.5 BRE 3,240 - 2,700 2l A
MrAL& 45 BRE 1,728 1,620 1512 5 L
MALE BRE 1,728 1,512 1,404 5 LL
[EhiLs 74.4 JtiEE - 1,728 - 0] A L
[ECTRYNS JtiEE - 1,620 - 0] A M
IEhi s T & - 1,080 — 10 vay M
IEhi s T & - 864 — 10 vay S
=L 0.8 BRE 2,700 2,700 1,296 5/ A
AL 8.9 "5 & 4,752 - 4536 0] ¢ LL
f=Fh&E 60.7 JtigE - 3,780 - 20 L4 (
f=FhE JtiEE 1,998 — 1,728 10 L4 (
f=FhE =y - 2,160 — 5 5
IZAIZK 0.7 ol 378 — 346 1 4L
HELLV=T 1.3 BERE 119 — 97 0.1 Vi M
ELLV=T K & - 76 — 0.1 A
ZDEET 7.0 12 [ 39 27 22 0.1 A
LHL 1.8 2 [ 108 — 76 0.2
ESES T 514.9
B=
= g fm B & E i = & E fi& £ B 8
( (kg)
BMAHMAEE 3.3
INGRH DA 0.8 BRE - 2,700 — 5| 7hva L
ING RHAPNA BERE 3,240 — 2,700 5| 7hva M
ING RHEPNA BERE 3,240 — 2,700 5] 7hva S
LEY 0.9 F ) 7,344 7,020 6,804 17 115
INLUYT 1.9 = I 6,804 6,480 3,888 17 1133
L7 2)1LY 0.3 m7r7Y 4,968 — 4320 15 45
YATE 10.1
2h3 8.9 5 & 4,860 4320 3,780 10{ 74¥1 36
HA%ZLE 14.5
2K 3.6 T & - 1,944 — 5[ vay 3L
—tid#e 0.6 E X — 475 — 0.5 32
ZTDHMEL 9.9 X & 6,264 5,724 5,724 10{ 7hv2 24
3HET 1.8
3% 1.8 £ % - 3,780 — 5] vay 15
FTHLE 0.2
ERS 0.1 £ B 432 — 410 0.4] wva 3L
JIL—> 0.1 E % - 378 — 0.4] Mty 5
SESE 7.0
Big 2.2 E % 540 540 432 0.35] vay 40
EA—x 1.1 =l - 3,888 — 4 6
~N1J—A B X - 302 - 03| 74¥a LL
AOVEF 0.9
7—ILA 0.8 * 3,240 3,240 2,970 N PEY) 2
FDAOY 0.1 JtiEE - 6,480 — 8 5
ERRYOY1s 0.6
ERRY
CEETLVH 0.6
INFF 13.8 EYEY 5,584 3,791 3,456 15
NAFyFTIL 1.6 EYEY 3,456 3,240 3,132 10 8
FoA4T)LY 25 — 2,808 2,592 2,592 4 33
BERE 67.5




